EARAROBREBRT —5 XN—ZXBISH—F

202266685268 (BH) 3EFR#4H

11R E35Ews

G1 Y>5R3mL (EE

(8% EE

EEE=CIEE

22000 R

[AE=%] 1 7 : 200,000,000 § 23 :80,000,000  ~ 37 :50,000,000 § .~ 4 37&:30,000,000H . 5 3&:20,000,000 H

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
. BLRE :09. -2-2- . . FHHE EH)
1B 6| 941 MLRILT— Ho4 w R 2(0_9)7 2-2-2-2 |36.1|117.1] 2 (4+726) R
RiRSAYF B:X—Jz EHERIY R
S X # 6 | D. L= 2:10.0 6-6-6-5 |35.9|113.8| 5 | 490 =il EST)
? 10 EVAT7 R 58.0 0 (o) | P
RIN=YITSA £:5UR J=HUTr—1
= ~, 5 st 5 | AELF 2:10.3 10-10-8-8 | 36.0 [ 110.9| 4 | 480 |®WEI &FR)
s 7 | ZFUVTIT %0 o Co | B0 JTTF—55TLy KR
RIET7RAT7 B:FFUIITN=R R&)185
= PSR % o5 | AEE= 2:10.3 3-3-3-3 [ 36.6|111.4| 3 502 | ARIREES (FH)
417115 7 jﬂ—\jl\ 58.0 (IN\F) -2) EITEEBE‘?E:
R:FXF B:EITASVHR RNERUS
~M~ # 7 | M. FL—0O 2:10.6 8-8-6-5 |36.5|108.2| 14 | 474 |FEEX (FH)
5059 |XARILT7OY 58.0 (1 3/8) 4y | ) BSTUYRIST5T47
RIAFAT=ILR B:RARTULIT7 EvIUy RI7—L4
_ s 4 | HELES 2:10.6 9-8-8-10 |36.2|108.0 | 1 50 | EBFm— (5H)
I775—U7 [B] 58.0 ) ) | @ FrOvhor—n
RIIET7RAT7 B:5A4T74—RN—h R L LN
~ ~ ft 5 | MEES 2:10.8 4-5-5-4 | 36.9]106.7| 9 76 | FEEX EH)
4R UUY 56.0 A 1/4) +14) | W) oA
R:ZRTU—vEe—O— B:IREFz—0O AREI1—T7—L
> )H S 5 | SHE 2:10.8 1-1-1-1 | 37.4(107.2| 6 | 476 |KEBAN EH)
NIYSvt 58.0 F9%) 6 |LRL—Z ()
R:O0—RAHFO7 B:=ZZARYNU— AN FAH
= s IRHHRE 1. -10-11- . . KIEBAN (FER)
2FAT—Uwa H o7 LS 2 (121)1 11-10-11-11| 36.5 | 103.2 | 10 (4:5 (ﬁﬁt’au—xm—x
RIZAFAIT=IVR B:AYFAL—Y #HET7—L
TP o7 | BREE 2:11.4 6-6-8-8 |37.2/101.2| 17 | 510 |BREREREE (FH)
108]17| FNF¥ 5.0 T 370 W) | @ HEL-zm—2
RiF4—FAVNT s B:AVFATavR HBEIT7—L4A
) o5 | SHEA 2:11.5 12-12-11-11/36.9 | 9.7 | 8 164 | REERR (FHR)
1118118 RII T 58.0 (3/4) (-4) ﬁ?EAﬂ'\—Jb?‘»{‘J?\Z ()
RiFA—TAVNI N B:IVIv—NUF J=HUT7—L
5 o, = fBKE— : -14-13- AAGREES (FR)
1218116l 7OUT L7 [B] B4 e 2.(121).9 14-14-13-13| 37.1| 9.1 | 13 ‘8? TARE
RiFIVTHXNXIN B:Rwy k=L /=3I r—1A
= —~ s 6 | EERARL 2:12.0  [12-13-13-15/37.0 | 95.0 | 16 | 354 |HHEB{T ER)
EH:\, X074—Lb—> 56.0 (3/4) () |EEE
RANTT—TI BA—T1 MEZI Y R
oy o4 | B2 2:12.1 17-17-17-17| 36.9 | 93.8 | 7 | 504 |HLEER GEF)
14|7|13| 7U—I7 560 a2 Gy | EREES LT
R:RwSXYTF BIZASIT4—F J=HUT7—1
<, 0 » GislE : -15-13- ERET (R
5B 5 | 7A7YNO-2 # 5 | Bl 2(71%:)2 15-15-13-15| 37.2 | 93.4 | 15 (433 %ﬁﬁu‘jg( )
R:ANTT—IN BNV RIL—T— J=HUT7—L
~; ® Y 7 | BAEN 2:12.4 4-3-3-5 |38.5| 93.8 | 12 468 | BEEH (=)
16/112 | 77VAYI—LR 5800 @ 1/a) o |3IEWI«Y
RIZAFAT—VR §:TUTEY S—L— - VoY - T7—LERE
~ Ptz H o6 | HaLLEEEL 2:15.5  |15-15-16-14| 40.5| 71.5 | 11 | 498 |REWE (FEH)
17| 7 (14| F¥TATI=Y 56.0 G1D) p | R
R:O0—RAH7F0O7 B:T7A4/XF (B) He1-RU—yavaEI7
Y = 4 5 | C. JbX—=)L = - - - - 516 | ANEH ()
w11 TV YT+ 58.0 (5% 4y |BREHVILT
RiAWTz—J)L #B:OFUVR /=Y Tr—I
[ BN
A 48.1-36.3
NOYFA L | 12.5-10.4-11.0-12.1-11.6-12.1-11.9-11.8-11.9-12.0-12.4
@ I1—JF—BEBIEfI
13—7+— 11-6,15(2,12) (10,17)9,4,7,8(3,18)16-(14,5)-13 1
20—7F— 11-6(2,15)-12(10,17) (4,9) (8,7)18,3,16(14,5)13 1
30—7F— 11-6(2,15)12(10,9) (17,4,7) (8,18)-(3,16,5) 14,13 1
43—F— 11,6,15,12(2,10,9) (17,7)4(8,18) 16,14(3,5)13 1
o ILRE
B 6 4201 | [ D1 K 6-10 780M & 3-5 2,520 3EE 6-7-10 5,150
B B 6 180M 6-7 710 /B E 6-10 2,060 3EE 6-10-7 25,220M
10 250 7-10 840M4 o= 6-10 3,420M
7 240

ABIC OV TRUTEREERRODDZE. THRIIZEL.




